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Guess Paper – 2011

Class – X
Subject – MATHEMATICS 
Section – A











MM : 80

Choose the correct answer and write in your answer sheet



8x1=8
Q.1
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a.
Positive integer 
b.
Negative Integer 
c.
Irrational No.
d. None
Q.2
The natural no for which 6” ends with digit zero


a.
1
b.
2
c.
3
d.
Not possible 

Q.3
Which one is not polynomial 


a.
x3-3x2+x+1
b.
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c.
8x-2+x+1

d.  All are polynomial 

Q.4
Value of k for which the system kx+2y = 5, 3x+y = 1 has unique solution. 


a.
k=6
b.
k=3
c.
k 
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d.
both b & c

Q.5
If 
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 is equal to 


a.
3
b.
9
c.
2
d.
none

Q.6
Trigonometric ratio whose value is can not greater than 1


a.
tanA
b.
cosA

c.
sinA

d.
both (b) and (c)
  



Q.7
Ratio of areas of two similar triangles whose corresponding sides are 8 cm and 12cm is 


a.
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b.
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c.
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d.
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Q.8
QA and PB are perpendiculars to AB .If AQ = 10 PB = 6 and AB=9 then PQ is 


a.
12
b.
5.4
c.
15
d.
none

Q.9
Remainder when 3x3+16x2+21x+20 is divided by x+4


    

4x2 = 8

a.
10
c.
-10
c.
0
d.
none

Q.10
Sec
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 (1-sin
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a.
 sec2
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 + tan2
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)
b.
1
c.
-1
d.
none
Q.11
“Areas of two similar triangles are 100cm2 and 49cm2. If altitude of bigger triangle is 5cm then corresponding altitude of other triangle is”


a.
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b.
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c.
3.5cm

d.
35cm
Q.12
In a formula of median 
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 if value of x is 20 then total frequency of data is 


a.
20
b.
10
c.
100
d.
40

Section – B                                           

7x2=14

Q.13
What can you say about the prime factorization of denominators of 
    


a.
92.325
b.
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Also state the rule on which your result is based.
Q.14
Check whether P2-3 is a factor of 2p4+3p3-2p2-9p-12 or not
Q.15
Find the value of p for which following system represent coincident lines 


x+(p+1) y = 5,      (p+1) x + 9y = 8p-1

Q.16
In triangle ABC, PQ parallel to BC, P and Q are points an AB and AC such that AP = 3.5, PB = 7 AQ = 3 and QC = 6, PQ = 4.5cm Find BC
Q.17
Solve 
23x+29y = 98,    29x+23y = 110
Q.18
Evaluate 
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Q.19
Find the mode of the 

	CI
	0-20
	20-40
	40-60
	60-80

	f
	15
	6
	18
	10


Section – C                                         

10x3 = 30

Q.20 
Write the quadratic polynomial, sum of whose zeroes is 
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 and their product is 2.

Q.21
Prove that 
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 is an irrational no. 

Q.22
Draw the graph of x+3y=6, and 2x-3y = 12 hence find the area of region bounded by x = 0, y = 0 and 2x-3y = 12.

Q.23
8 men and 12 boys can finish a piece of work in 10 days while 6 men and 8 boys can finish it in 14 days. Find he time taken by one ran and one boy alone to finish the work. 

Q.24
What is the measure of angle B in triangle ABC if AB = 3, BC = 4 and AC = 5cm. also state the theorem on which the calculation are based. 

Q.25
Evaluate 
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Q.26
Find the value of P if mean is 27


	CI
	0-10
	10-20
	20-30
	30-40
	40-50

	f
	8
	P
	12
	13
	10


Q.27
Solve ax+by = a-b & bx-ay = a+b by cross multiplication 

Q.28
Prove that 
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Q.29
Prove that cos30 = 
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Section – D                                            

4x5 = 20

Q.30
Prove that in a right angled triangle the square of hypotenuse is equal to the sum of square of other two sides 



Using it “In a right angled triangle ABC at C P and Q are points on the sides CA and CB respectively, which divides these sides in ratio 2 :1. Prove that 


9(AQ2+BP2) = 13AB2
Q.31
Following data represent the marks of students. Draw the ‘less than’ and ‘more than’ ogive and determine the median.

	Marks

	0-5
	5-10
	10-15
	15-20
	20-25
	25-30
	30-35
	35-40

	Students
	4
	6
	10
	10
	25
	22
	18
	5



Verify your result by formula 

Q.32
Prove that x2+y2 = 1. If 
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Q.33
A boat covers 32km upstream and 36km down stream 7 hrs. Also it coves 40km upstream and 48 km down stream in 9 hrs. Find  the speed of boat and stream in still water.

Q.34
How many zeroes are possible for p(x) = x3-12x2+39x – 28. Find all zeroes. 


 Pradeep Sahajwani Classes (BASE MAKER)
IX – X CBSE (Maths / Science)

S-20, Vivekanand Colony, Bhopal, Phone : 0755-2751377, 9893213700
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

_1344589692.unknown

_1344590073.unknown

_1344590452.unknown

_1344592888.unknown

_1344593923.unknown

_1344594129.unknown

_1344593172.unknown

_1344593670.unknown

_1344591502.unknown

_1344592305.unknown

_1344591065.unknown

_1344590268.unknown

_1344590347.unknown

_1344590257.unknown

_1344590051.unknown

_1344590068.unknown

_1344590040.unknown

_1344589457.unknown

_1344589667.unknown

_1344589677.unknown

_1344589654.unknown

_1344589152.unknown

_1344589299.unknown

_1344588938.unknown

